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Abstract

We study the problem of scheduling jobs whose processing times
are decreasing functions of their starting times. We consider the case
of a single machine and a common decreasing rate for the processing
times. The problem is to determine an optimal combination of the
due-date and schedule so as to minimize the sum of due date, earliness
and tardiness penalties. We give an O(nlogn) time algorithm to solve
this problem.
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Introduction

Machine scheduling problems with start-time dependent job processing times
have received increasing attention from the scheduling community in recent
years [1, 2, 3, 6, 12, 13, 14]. Researchers have formulated different models
for this phenomenon and solved different versions of the problem for various
criteria. A survey of scheduling research with start-time dependent processing

times can be found in Cheng et al. [7]. Generally, there are two groups
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of models to describe this kind of scheduling processes. The first group is
devoted to the problems in which the job processing times are characterized
by non-decreasing functions of their starting times, and the second group
concerns the problems in which the job processing times are non-increasing
functions of their processing times. In this paper, we study the latter group
of problems.

Application examples of the non-decreasing model of job processing time
are quite intuitively different from its non-increasing counterpart. The latter
model can be used to describe the process by which aerial threats are to be
recognized by a radar station. In this case, a radar station has detected some
objects approaching it. The time required to recognize the objects decreases
as the objects get closer. Thus, the later the objects are detected, the smaller
is the time for their recognition. Another example refers to the so-called
‘learning effect’. Assume that a worker has to assemble a large number of
similar products. The time required by the worker to assemble one product
depends on his knowledge, skills, organization of his working place and others.
The worker learns how to produce over time. After some time, he is better
skilled, his working place is better organized and his knowledge is increased.
As a result of his learning, the time required to assemble subsequent products

decreases.

Problem formulation

There are given a single machine and a set J = {1,2,...,n} of n independent
and non-preemptive jobs, which are immediately available for processing. The
processing time p; of job 7 is given as a linear decreasing function of its starting

time s;:
Pi(Sz‘) = a; — bs;,

where a; > 0 denotes the normal processing time of job ¢ and b denotes its

decreasing rate, which is assumed to be common for all jobs. It is further



assumed that the decreasing rate b satisfies the following conditions:
0<b<1 and b(Zaj—ai)<a,», for 1 <i<n.
j=1

The first condition ensures that the decrease in job processing time is less than
one unit for each unit of delay in its starting moment. The second condition
ensures that all job processing times are positive in non-delay schedules. The
paper only considers cases where non-delay schedules are optimal.

In addition, we cast the problem as the Common Due-Date Problem
(CDDP), which deals with job scheduling on a single machine in a just-in-
time production environment [4, 8, 9, 10, 14]. Prescribing a common due-date
might represent a situation where several items constitute a single customer’s
order, or it might reflect an assembly environment in which the components
should all be ready at the same time in order to avoid staging delays.

For any given schedule o, let

= start time of job i,

= a; — bs;(0), actual processing time of job i,

(o)
(o)
Ci(0) = completion time of job i,
(0) = max{0,d — C;(0)}, earliness of job i,
(0) = max{0,C;(0) — d}, tardiness of job 1,
) = Y (aEi(c) + BT;(0) + vd), total penalty function, where o, 3,7~

are the unit earliness, tardiness and due-date penalty, respectively.

In this paper, we consider the problem of finding the optimal combination
of the schedule ¢* and the common due date d* that leads to the minimum

value of
f(d,0) => (aE; + BT; + ~d).
i=1

Using the three field notation a|3|y of Graham et al. [11], the problem can
be denoted as 1|p;(s;) = a; — bs;, d| X0, (aE; + BT; + vd).
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Preliminary analysis

We first present some elementary results. For any given schedule o, we will
use o(j) to denote the job in position j of o, for j =1, .-+, n. Define ¢(0) =0

and Cy = 0 The following property is easy to see.

Property 1. There exists an optimal schedule in which the machine is not
idle between the processing of the jobs.

Similar to Theorem 7.2 in [5], we have

Property 2. For any specified schedule o, there exists an optimal due-date

d* = Cy(k), where K is the smallest non-negative integer value greater than

nB—ny
a+p

or equal to i.e., exactly K jobs are nontardy.

Proof. We first show that for any specified schedule o, d* is equal to the
completion time of some job.

Consider a given schedule o and d with C, ;) < d < Cs(i41), and let F' be
the corresponding objective value. Define v = d — C,;) and y = Cy(i1) —
d. Let I’ and F" be the objective value for d = C,;) and d = Cyy1y,

respectively. Then,

F'=F+z(n—1)8 — xvia — nyx (1)
and

F"=F —y(n—1)8+ yia + nyy. (2)

Thus, we have F' < F'if (n — )8 < ia + ny, and F” < F otherwise. This
implies that for any specified schedule o, d* is equal to the completion time
of some job o (k). Assume that d* = C,), and let Z be the optimal solution.
It is easy to see that d* = C, ) if § < . Otherwise, applying (1) to the
situation x = Cy) — Cok—1), we have k(o + 3) < nf — ny, a contradiction.
If 3 > ~, applying (1) and (2) to the situation = Cy) — Cor—1) and
y = Coet1) — Co), respectively, we conclude that "g%g” <k< ”g%g” + 1.

This implies that d* = C, (k). The result follows. |
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Due to Properties 1 and 2, we see that the total penalty for any given
schedule ¢ is equal to f(Cy(k), o). Introducing Cy (k) = po(1) + Po(2) + - - - +

Po(k), We get

K n
f(Cotry,0) = Z(a(l — 1) + ny)po(i) + Z B(n+1—1i)psa)- (3)
i=1 i=K+1

For notational convenience, we define the following:

m; = bz aj —1) +ny)(1 —b) "+ b3 Z (n+1—3)(1—by"

j=K+1
for2<i< K, (4)
m; = bﬁzn:(n—l—l—j)(l—b)j’i, for K+1<i<n, (5)
gu(b) = «a ﬂi_(a +n7)b — bms,
g2(b) = B((n— (K +1))b—1) = bmgys,
hi(i) = a(i—1)+ny—mqq, for 1 <i < K —1,
hao(i) = (n+1—19)8—myq, for K <i<n.
It is easy to see from (2) and (3) that
miv1 = (ai+nvy)b+ (1 —b)m;ya, for 1<i<K-1, (6)
miv1 = PBn—:9)b+ (1 —0b)m;o, for K <i<n-2. (7)

Property 3. (1). If ¢g;(b) > 0, then o + (i + ny)b — by > 0, for
1<i<K-1

(2). If ¢1(b) <0, then o + (i + ny)b — bm;o <0, for 1 <i < K — 1.
(3). If g1(b) = 0, then a + (ai +ny)b — bm2 =0, for 1 <i < K — 1.

Proof. (1). We proceed by induction on i. If i =1, a+ («vi + ny)b — bmg =
g1(b) > 0, the result follows. Assume that the result holds for the case i < k.

For the case ¢ = k, by the induction hypothesis,
a+ (a(k —1)+ny)b — bmgiy > 0. (8)
Combining this with
M1 = (ak +n7)b+ (1 = b)myya, (By (4)) (9)
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we have

a+ (ak 4+ nvy)b — bmgio
by — b*(ak + ny)
1-0
a+ (a(k —1) +ny)b — b*(ak + ny)
1-10

= a+ (ak+ny)b—

(By (7))

> a+ (ak+ny)b—

(By (6))
= 0.

The result of (1) follows.

(2) and (3). Similar to the proof of (1).

Property 4. (1). If gi(b) > 0, then for any optimal schedule o, ay1) >

Up(2) = -« 2 Ug(K)-

(2). If g1(b) < 0, then there exists an optimal schedule ¢ such that a1y <

y2) < -0 < A (K)-

Proof. (1). Assume that the schedule o in which a,() < a1y (1 <@ <

K — 1) is optimal. Let ¢’ be the schedule derived from ¢ by swapping ¢ and
1+ 1. Then,
Co(ir)y = Go(ir1) + (1 = b)ao(s) + (1 — b)*s00),
Coiiry = o)+ (1= b)asirr) + (1 = b)*s5().
S0 Co(it1) — Cor(iy1) = b(an(i+1) — Go;y) > 0. Combining this with (1), the
difference in the value of f(d,s) between the two schedules is as follows:
f(Coxy, o) — f(Coricy, o)
= (a(i —1) +n7)poq) + (@i + nY)Pogir)
—(ai = 1) + nY)poriy + (v + 1nY)Dor(i41) — bt (Ao(iv1) — Gog))

= (a(i = 1) + ny)(as@) — bso)) + (@ + 1Y) (ao@s1) — bao) — (1 — b)Ss))

—(ai = 1) + ny)(ao(i+1) — bSo@)) — (@i + 1Y) (o) — baoiit1y — b(1 = )so()

—bmz+2(%(i+1) - aa(i))
= (Oé + (CW, + n’}/)b - bmi+2)(aa(i+1) — aa(i))

> 0, (By Property 3)



a contradiction to the optimality of o. This completes the proof of (1).

(2). Assume that the schedule ¢y in which ag, ;) > @, 41) (1 <P < K —1)
is optimal. Let o] be the schedule obtained from oy by swapping ¢ and i + 1.
Then,

f(Coyr0y,01) = f(Cor(x), 07)

= (a4 (i +n7)b— bmiy2)(ao, (i+1) — Aoy ()

> 0. (By Property 3)
So, o} is an optimal schedule. Proceeding as above, we can get an optimal
schedule o such that a,1) < ay2) < ... < Go(k)- [ |
Property 5. (1). If go(b) < 0, then B((n —i)b — 1) — bm;a < 0 for
K+1<i<n.
(2). If g2(b) > 0, then G((n —i)b— 1) —bmo >0 for K +1<1i <n.
(3). If g2(b) = 0, then G((n —i)b— 1) —bmyo =0 for K +1<1i <n.
Proof. (1). We proceed by induction on i. If i = K + 1, f((n —i)b— 1) —
bm;io = g2(b) < 0, the result follows. Assume that the result holds for the

case K +1 < i < k < n. We consider the case ¢ = k. By the induction

hypothesis,
B((n—k+1)b—1) —bmgy <O0. (10)
Combining this with
brnicar = B(n — KB + (1 = by, (By (5)) (11)
we have

B((n — k)b —1) — b
= l(n = kyp— 1) - P )
B((n—k+1)b—1)— 3b*(n—k)
1-b

< Bl(n—kp—1) -

= 0.



The result of (1) follows.

(2) and (3). Similar to the proof of (1). u
Property 6. (1). If g,(b) < 0, then for any optimal schedule o, ao(x4+1) <
Ug(K+2) < - < lo(n)-

(2). If go(b) > 0, then there exists an optimal schedule o such that a,(xi1) >
Uo(K42) = -+ = Ug(n)-

Proof. (1). Assume that the schedule o in which asu) > aoiny) (K +1 <
i < n) is optimal. Let o’ be the schedule derived from ¢ by swapping i and

1+ 1. Then,

F(Cotry, o) = f(Corey, o)

= Bn+1—1i)(ass) — bsew) + B(n — i) (asi+1) — baow — b(1 — )se))
—B(n 41 —i)(as@r1) — bSo(i)) — B(n — 1) (ao(i) — bag(ir1) — b(1 = 0)se(;))
—bmiya(ao(ir1) — o))

= (B((n —1)b—1) = bmit2)(ao(it1) — Aos))

> 0, (By Property 5)

a contradiction. The result of (1) follows.

(2). Assume that the schedule oy in which a,, ) < o, 41y (K +1 <0 <n),
is optimal. Let o be the schedule derived from oy by swapping i and 7 + 1.
Then,

f(Cal(K)ﬁl) - f(Ca'l(K),Ui)
= B(n—=0b-1) - bmi+2>(%1(i+1) - aO’l(i))

> 0. (By Property 5)

So, o} is an optimal schedule. Proceeding as above, we can get an optimal

schedule o such that

Ao(K41) 2 Oo(K42) =« = Qg(n)-



This completes the proof. [ |

Property 7. (1). If ¢1(b) > 0, then hy(i) = a(i — 1) + ny — m;q; is an

increasing function of i (1 <i < K —1).

(2). If ¢1(b) < 0, then hy(i) = a(i — 1) + ny — my4q is a decreasing function
ofi (1<i<K-—1).

(3). If g1(b) = 0, then hy(1) =y (2) = ... = h (K —1).
Proof. (1). Since m;y1 = (i +ny)b+ (1 —b)m;io for 1 < i < K — 1, we
have
hi(i+ 1) — hy(7)

= ai+ny—mie— (i —1) —ny+min

= a+ (M1 — Miya)

= a+ (a+n)b+ (1 —0)mir2 — mit2

= a+ (ai+ny)b—bmi

> 0. (By Property (3))
This completes the proof of (1).

(2) and (3). Similar to the proof of (1). u

Property 8. (1). If g2(b) > 0, then ho(i) = (n + 1 —4)8 — m;yy is an

increasing function of ¢ (K <i < n).

(2). If go(b) < 0, then ho(i) = (n+ 1 —14)3 — my41 is a decreasing function of

i (K <i<n).
Proof. (1). Since m;y1 = bB(n — i) + (1 — b)m;yo, for K < i < n — 2, we
have

ha(i+ 1) — ha(7)

= n—10)f—mipe— (n+1—9)F+mip



= 0B+ (Mig1 — Miya)
= —B+bn—i)8+ (1 —Db)miy2 — Mo
= (b(n—1i) —1)B —bmio

> 0. (By Property 5)

This completes the proof of (1).

(2) and (3). Similar to the proof of (1). u

The following theorem is easily seen from Property 4 and Property 6.

Theorem 9. (1). If g4(b) > 0 and ¢2(b) < 0, then for any optimal schedule
T, Og(1) = Qg(2) = -+ = Oo(k) AN Ug(g41) < o(r42) < o0 < Ao(n)-

(2). If g1(b) > 0 and g2(b) > 0, then there exists an optimal schedule ¢ such
that ay,(1) > as2) 2> ... 2 aox) and dg(g41) = Ao(K42) = -+ = Ao(n)-

(3). If g1(b) < 0 and go(b) < 0, then there exists an optimal schedule o such
that as) < as) < ... < o) and Ap(g11) < Aok12) < -0 < Ao (n).

(4). If g1(b) < 0 and g2(b) > 0, then there exists an optimal schedule o such

that as(1) < as) < ... < aok) and ao(x11) > Ao(k12) = -+« = Ag(n)-

A polynomial-time algorithm

We first sort and re-label the n jobs so that they are in non-increasing order of
their normal processing times, namely a; > ay > ... > a,. In the following,

we present an O(nlogn) algorithm for 1|p;(s;) = a; — bs;| > (aFE; + BT + vd).

Algorithm A.
Step 1: Initialization.
i=1,7=1,k=n,5S =5 =0, muy =0,
J=1{1,2,....,n}, K = ("g%gﬂ.
Step 2: Compute the values of m i1, M2, Mjt k42, and

(b)) = a+ (a+ny)b—bmjs,
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g2(b) = B((n— (K+1)b—1) —bmjixio

Step 3: If K =1 and g2(b) > 0, go to Step 8;
If K =1 and go(b) <0, go to Step 5;
If K =n—1and ¢;(b) > 0, go to Step 5;

If K=n—1and g(b) <0, go to Step 12.
>

Step 4: If ¢g1(b) > 0 and go(b) > 0, go to Step §;

If g1(b) <0 and ¢2(b) > 0, go to Step 12;
If g1(b) <0 and ¢2(b) < 0, go to Step 16.
Step 5: Compute L, = (j — L)a+ny —mjy — (n+1—k)8+ myyq. If

Ly >0,set k:=k—1,mpy :=b8(n—k)+ (1 —b)mys1,5 = Sy U {i};

otherwise, set: j:=j+ 1,mj = m”l_(al(fgl)%”)b, Sy =S U{i}.

Step 6: i:=1+1

Step 7: If j = K+1, set Sy := J — 5. Let o be the schedule obtained by
arranging the jobs in non-increasing order of their normal processing times
in S, followed by arranging the jobs in non-decreasing order of their normal

processing times in Sy, and d* = Cy(g). STOP.

If k=K, set S;:=J — S5. Let 0 be the schedule obtained by arranging
the jobs in non-increasing order of their normal processing times in S, fol-
lowed by arranging the jobs in non-decreasing order of their normal processing

times in Sy, and d* = Cy (k). STOP. Otherwise, go to Step 5.

Step 8 k=K + 1.
Step 9: Compute L, = (j — L)a+ny —mjy — (n+1—k)8+ myyq. If
Liy>0,set k:=k+1mg = W,& := Sy U {i}; otherwise,

set: j = j + 1, mjy1 = mj+1—(oi(zgl)+n'y)b, Sl = Sl U {Z}

Step 10: ¢ :=i+1
Step 11: If j = K41, set Sy := J —51. Let o be the schedule obtained by
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arranging the jobs in non-increasing order of their normal processing times
in Sp, followed by arranging the jobs in non-increasing order of their normal
processing times in Sy, and d* = Cy(). STOP.

Ifk=n+1,set S; ;= J — S5. Let o be the schedule obtained by
arranging the jobs in non-increasing order of their normal processing times in
S1, and followed by arranging the jobs in non-increasing order of their normal

processing times in Sy, and d* = Cy(g). STOP. Otherwise, go to Step 9.
Step 12: © :=n.

Step 13: Compute L, = (j — D)a+ny —mj; — (n+ 1 — k)5 + my4q.
If Lj,k Z 0, set k= k — 1,mk+1 = bﬁ(n - k) -+ (1 - b)karl, SQ = SQ U {Z},

otherwise, set: j :=j+1,mj;; = mj“_(al(f;lHnW)b, S1 =81 U {i}.

Step 14: 1 : =17 —1

Step 15: If j = K+1, set Sy := J — 5. Let o be the schedule obtained by
arranging the jobs in non-decreasing order of their normal processing times
in 51, followed by arranging the jobs in non-increasing order of their normal
processing times in S;, and d* = C, k). STOP.

If k=K, set Sy :=J — S5. Let o be the schedule obtained by arranging
the jobs in non-decreasing order of their normal processing times in S, fol-
lowed by arranging the jobs in non-increasing order of their normal processing

times in Sy, and d* = Cy (k). STOP. Otherwise, go to Step 13.

Step 16: k:= K + 1,i :=n.

Step 17: Compute L;; = (j — Da+ny —mj1 — (n+1—k)3 + myy. If
K>0,set k:=k+1,my:= USSRy SR S {i}; otherwise, set:

-
Ji= g gy = mesGEEDER g — 5 U {4},

Step 18: 1: =7 —1

Step 19: If j = K+1, set Sy := J — 5. Let o be the schedule obtained by

arranging the jobs in non-decreasing order of their normal processing times
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in S, followed by arranging the jobs in non-decreasing order of their normal
processing times in S,, and d* = Cg([%w). STOP.

Ifk=n+1,set S .= J — S5. Let o0 be the schedule obtained by
arranging the jobs in non-decreasing order of their normal processing times
in S, followed by arranging the jobs in non-decreasing order of their normal
processing times in Sy, d* = C, (k). STOP. Otherwise, go to Step 16.

To determine the computational complexity of Algorithm A, we note that
Step 5, Step 9, Step 13 and Step 17 can be completed in O(n) time, while
Step 7, Step 11, Step 15 and Step 19 can be completed in O(nlogn) time.

Hence, the overall time complexity of the algorithm is O(nlogn).

Property 10. Let o be an optimal schedule and L, ; = (i — 1)ao + ny —
M1 — (n—i—l—])ﬁ—i—mJH (1 <1< K,K—f-]_ S] < n)) IfLiJ‘ > O, then

Uo(i) < Qo). I L j <0, then asi) > aq(;).

Proof. If L;; > 0, suppose to the contrary that a,; > as@;). Let o' be
the schedule derived from o by swapping i and j. Then, f(Cyk),0) —
[(Coniy, ') = L; j(ag@y —ao(;y) > 0. This is a contradiction. So, ae@) < dp(j)-
Similar to above, we have a,(;) > aq(;) if L;; <O0. [

For notational convenience, we define the following properties:

(Pq). If L;; > 0, then a,() < ag(;). Moreover, if L;; > 0 and a) = aq(j),
then o(j) < o(i). If L;; < 0, then as;) > a,(). Moreover, if L;; < 0 and
Uo(i) = o(j), then o (i) < (7).

(P2). a5(1) 2 ao(2) 2 -+ 2 Go(r) A0 Gg(rit1) = - 2 Aom)- I Aoy = ao(y),
then 0(i) < o(j)if 1 <i<j< K,or K+1<i<j<n.

(P3). ao1) 2 o(2) 2 -+ 2 () a0d (i) < o0 < Ao()- If o) = ao(p),

then o(i) <o(j)if 1 <i<j<K,ando(i) >c(j) f K+1<i<j<n.

(P4) Qg (1) < Qg (2) <...< Qo (K) and Qo(K+1) <...< Qg (n)- If Qo (i) = Qo(j);

then o(i) >0(j)if 1 <i<j<K,or K+1<i<j<n.
(Ps5). o) < ao2) < -+ < ao(r) ad Ao(11) = -+ = o) I Ao = ao(y),
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then o(i) >o(j)if 1 <i<j<K,ando(i) <o(j) f K+1<i<j<n.
(Pg). If K;; = 0, then a,(jy > ao(;). Moreover, if K;; = 0 and aq ;) = ao(),
then o(j) < o(i).

(Pr). If K;; =0, then a,(jy < ao(;). Moreover, if K;; = 0 and aq(;) = a3,
then o(j) > o(i).

The next property is easily seen from Algorithm A.

Property 11. Let o be a schedule produced by Algorithm A.

(1) If g1(b) > 0 and ¢2(b) > 0, then o satisfies properties (Py), (P,) and (Fg).
(2) If g1(b) > 0 and ¢o(b) < 0, then o satisfies properties (P;), (Ps) and (Fg).
(3) If ¢1(b) < 0 and g¢2(b) < 0, then o satisfies properties (P;), (Ps) and (P).
(4) If g1(b) < 0 and g2(b) > 0, then o satisfies properties (P;), (Ps) and (P;).

Property 12. (1). If g4(b) > 0 and go(b) > 0, then there exists an optimal
schedule that satisfies properties (P), (Pz), (Fs).

(2). If g1(b) > 0 and g2(b) < 0, then there exists an optimal schedule that
satisfies properties (Py), (Ps), (D).

(3). If g1(b) < 0 and go(b) < 0, then there exists an optimal schedule that
satisfies properties (Py), (Py), (Pr).

(4). If g1(b) < 0 and go(b) > 0, then there exists an optimal schedule that
satisfies properties (Py), (Ps), (Pr).

Proof. (1). Assume o is an optimal schedule with properties (P;), (P,), the
result is easily obtained by Theorem 9 and Property 10. If there exist integers
i, with 1 <7 < K, K+1<j <nsuch that L;; = 0 and ay) > a() or
Us(j) = Qo) and o(j) > o (i), let o1 be a schedule derived from o by swapping
i and j. Then, f(Cyk),0) — f(Coy(k),01) = Lij(aon) — ao(j)) = 0. So, o7 is
an optimal schedule. By repeating the above procedure, we eventually obtain

an optimal schedule ¢’ with properties (P;), (P2) and (F).
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(2), (3) and (4). Similar to the proof of (1). u
Property 13. (1). If g;(b) > 0 and g2(b) > 0, let 0, 0’ be two schedules with
properties (Py), (P) and (FP), then o(i) = o’(i) for 1 <i < n.

(2). If g1(b) > 0 and ¢o(b) < 0, let 0,0 be two schedules with properties
(P1),(Ps) and (Fg), then o(i) = o'(i) for 1 <i < mn.

(3). If g1(b) < 0 and go(b) < 0, let 0,0 be two schedules with properties
(Py), (Py) and (P;), then (i) = o'(i) for 1 < i <n.

(4). If g1(b) < 0 and gy(b) < 0, let 0,0 be two schedules with properties
(P1),(Ps) and (P), then o(i) = o’(i) for 1 <i < mn.

Proof. (1). It suffices to prove that o(i) = o’(i) for 1 < i < K. We proceed

by induction on i. We distinguish two cases, depending on go(b) > 0 or
Case 1. g;(b) > 0 and go(b) > 0.

If i = 1 and there exists an integer j; (K +1 < j; < n) such that L, ;, = 0.
By Property 8, L1 ; > 0if K +1 < j < j;. Then, o(1) =0'(1) = j1 — K+ 1.
If ¢ = 1, and there exists no integer j (K +1 < j < n) such that L, ; = 0,
then o(1) = 0/(1) = 1 if Ly g1 < 0. If Ly gy > 0, let ji=max{j|K;; >
0,K+1<j<n} theno(l)=0'(1)=j; — K+ 1.

Assume that for ¢ < k, the result follows. We consider the case i = k.
If there exists an integer j, (K + 1 < ji < n) such that L, = 0. By
Property 7 and Property 8, Ly ; < 0if j > ji and L;j, > 0if ¢ > k. Then,
o(k) =max{o(k—1),0(jx — 1)} + 2. Similarly, ¢’(k) =max{o’(k —1),0'(jx —
1)} + 2. By the induction hypothesis, o(i) = o’(i) for 1 < i < k — 1. This
implies that o(jx —1) = o’'(jx, —1). So, (k) = ¢’(k). If there exists no integer
Jj (K+1<j<n)suchthat Ly ; =0, let jy = K +0o(k—1)— (k—1), then
o(k)=0'(k) =0(k—1)4+1if Ly j, 11 < 0. If Ly j,+1 > 0, let j; =max{j|L;; >
0}, then o(k) =o'(k) =o(k — 1)+ (j, — Ji) + 1.

Case 2. ¢1(b) > 0 and g2(b) = 0.
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If Ly k+1 > 0, then by Property 7, Ly g2 > 0,...,L1, > 0. So, (1) =
o'(1)=(n—K)+ 1. If L1 k41 <0, then o(1) =0'(1) = 1.

Assume that for i < k, the result follows. We consider the case i = k. If
Ly k+1 = 0, then by Property 7 and Property 8, Ly_1 k41 < 0, Ly—1 k42 <
0,...,Lg14, <0,and Ly j41 = ... = Ly, = 0. So, 0(k) =0o(k—1)+ (n —
K) + 1. Similarly, o'(k) = o'(k = 1) + (n — K) 4+ 1. Then, o(k) = o'(k).
If Ly < 0, then Ligsr < 0,Logry < 0,... Li_yixsr < 0, so (k) =
o'(k) = k. If Lygsr > 0 and Ly_y g1 > 0, then o(k) = o(k — 1) + 1.
Similarly, ¢'(k) = ¢’(k — 1) + 1. By the induction hypothesis, o(k — 1) =
o' (k—1). Soo(k) =0'(k). If Lyxs1 >0 and Ly_1 g1 < 0, then o(k) =
ok —1)+ (n — K) + 1. Similarly, o'(k) = ¢/(k— 1)+ (n — K) + 1. So,
o(k) = o'(k). This completes the proof. u

Theorem 14. Algorithm A computes in time O(nlogn) an optimal solution

to the problem 1|p;(s;) = a; — bs;, d| X (aE; + BT; + vd).

Conclusions

This paper studies a single machine due-date scheduling problem of jobs with
decreasing start-time dependent processing times. Our objective is to mini-
mize the sum of earliness and tardiness. We show that the optimal schedule
can be found in O(nlogn) time. Future research may consider more general

deterioration types.
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